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LIFE SCIENCE

LSE-07 : TAXONOMY AND EVOLUTION

Time : 2 hours Maximum Marks : 50

Note: (i) Question No. 1 is compulsory.
(ii) Attempt any four questions from question
No. 2 to 6.
(i)  Attempt five questions in all.

1. (a) Match the items given under Column A 4
with those given under Column B :

Column A Column B
(i) Bentham & (A) Naked seeds
Hooker
(i) Gymnosperm (B) Unicellular
fungus
(i) Deuterostomes (C) Natural
system of
classification
(iv) Yeast (D) Starfish
(b) Define the following terms : 3

(i)  Acrocentric chromosome
(ii) Neotaxonomy
(iii) Species
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(b)

(b)

4. (a)

(b)
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Complete the following statements by 3
choosing the correct alternative from words
given within brackets :

(i) Kaziranga Wildlife Sanctuary is
located in (Assam/West Bengal)

(ii) Diploid number of chromosomes in
Homosapiens is . (twenty
three/Forty six)

(iii) The sterility of the offspring of inter-
specific crosses is called .
(Hybrid  sterility/inter-specific
sterility)

What do you mean by “Binomial
Nomenclature” ? State its importance.  1+4=5
Discuss the action of Natural Selection in
uniform and changing environments. 2%2+2%2=5

Describe the various mechanisms of 5
speciation.

Explain the concept of Biological species and
name the other two concepts regarding
species. 4+1=5

What are ‘Keys’ ? Why is the use of "Key’

for identifying a specimen considered more
efficient ? Briefly describe the different types

of keys. 1+1+3=5
Distinguish between Homologous and 5
Analogous organs with examples.



(b)

Do you think that ability for speech and 5
language has made humans superior to
other animal groups. Substantiate your
opinion.

What are the basic tenets of Darwinism ? 5

6.  Write notes on any two of the following : 2x5=10

(@)
(b)
(c)
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Genetic Drift

Evolutionary Trends in Horse
Biochemical Approach in Taxonomy of
Animals
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2 (a)
(b)
3. (a)
(b)
4. ()
(b)
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5. (a) 39 fo=m #, 0 e & Uik qun Wi g 5
sifireafaa 1 &udr ¥ A & 7 SE @ O
o1 fean &1 A9 T o1 guedw wife)

(b) SIETAR Ht AT TROME A & §?

Qi

6. Trfafea # | fF=l gt w feuoft fafaw) 2x5=10
(a) AT fagem (SRfew fgw)
(b) 3@ F fawm =t ygfaar
(c) affet H St fafy
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